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2.    a. Why does each pair of
problems have the same answer?

i. 3 x 27  and  9 x 9

ii. 5 x 18 and 10 x 9

iii. 4 x 16 and 8 x 8

iv. 2 x 45 and 10 x 9

b. Which multiplication is easier in each pair of problems?

Why?

Solving multiplication problems using mental strategies

Activity
1. Why do the problems

12 x 12 and 24 x 6 have
the same answer?

Use this picture to explain
your answer:

b. 2 x 18

e. 14 x 4

c. 3 x 18

f. 24 x 3

3. Use the strategy from the examples above to solve these problems:

a. 5 x 46

d. 24 x 5

Lookalike
Number Levels 3-4


